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EN—73—2017
FACULTY OF COMMERCE
B.Com. (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
COST ACCOUNTING—I
(MCQ & Theory)

(Saturday, 14-10-2017) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. :— () Solve Question No. 1 on OMR sheet during the first half hour.

(i1) Question No. 1 and Question No. 2 are compulsory.
(ii1) All questions carry equal marks.

(fv) Simple calculator is allowed.

(i) T %A 1 B OMR sheet ad Tl 3 @G dfgen A9i ard
Jo5 TEI.

(i) U HHGR 1 S 2 ¥ AEE eTRa.

(i) EE AR GHE IO SR

(v) Y RIS AT URAT 3R,

MCQ
1. Multiple Choice Questions : 10
agwfeﬁ TR
(@) Maximum consumption x Maximum Reorder Period = ....................... )
(@) Maximum Stock Level (b) Minimum Stock Level
(¢) ~ Reorder Stock Level (d)  None of these
QI FEE SUUNT x HHCl H: SIRY WG = .
(@)  EUH Y Tae (b) TAAH WhY de

(¢) TA: Q¥ ThY UM (d) IRt AR
P.T.O.
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(1) e is the first major element of cost.
(@) Material (b)  Labour
(c) Overheads (d) Office expenses
..................................... =1 gfeEE ufEen Hie ueE o
(@ ®) ¥
(0 Ao (d) ~ wEEE =
(zii)  Base of apportionment of supervision is :
(@) No. of Workers b) Direct expenses
(e) Direct Wages (d) Area occupied
L L T TR
(@ AU e (b)  TIH I
()  ¥a& 9| (d)  ¥RU e &

(tv)  Prime Cost + Factory Overheads = ...........cceeeevviennnnnn.n. .
(@) Factory Cost b) Prime Cost
(e) Office Cost d) Total Cost

(@)  hRE e (b) UM IR
(c)  wrEcd dieH™ d) THU T
(v) Productive wages is also known as :
(@) Direct Wages (b)  Non-productive Wages
(c) Direct Expenses (d) Indirect Wages
(@)  FE& TS (b) TS T
(€  Ja& T d) oYIH T
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(vi)

(vii)

(viii)

(ix)

( 3) EN—73—2017

Canteen expenses, Lubricant and loose tools are the examples of :

(@) Selling overheads b) Office overheads

(e) Distribution overheads (d) Factory overheads

°|:;"f:\|"| {QI'CI, Q’Lq"\lch'd 3:|TFUT @ Wﬁ %'1 ................................. Eﬁ W‘J‘}[
TR,

(@  Tornt e (b)  HEE Al

() Toawom efuemy (d) ~ REM iy

Single or output costing method is not used in :

(@) Cotton industry b) Bricks industry

(c) Transport industry (d) Cement industry

Tohdd fohal Scales ORed aget o SR IR RS | P
(@  hIIS FEM (b) fae 3=

(c) =mEgs® UM d)  faHe 3T

Simplicity, Security to workers and quality of work are advantages
of :

(@) ~ Piece Rate System (b)  Time Rate System

(c) Incentive Schemes (d)  None of these

HJ\Q"K'“, °h|"|‘||{|'5|ﬁ| ﬂ—{-ﬁﬂddl 3:”-&-[ HTEET ETTﬁ %— ................................. a -Ch—l-qé
3TTRA.

(@ = T gl (b) HEE I S

(c)  TOMCHE FERT WAl (d) Fe &

Rent and Rates, Supervision and insurance are the examples of :
(@)  Fixed charges (b)  Variable charges

(e) Semi-variable charges (d) None of these

TR o T, GHAEII ST Fqmy g e = SeE e
(@) Ter == (b) wEAd T

(c) 31 wEer e (d) I AR

P.T.O.
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(x) In which ledger receipts and issues of materials to be recorded ?

(@) Sales ledger b) Store ledger

(c) Purchase ledger (d)  None of these

g g frifd Sl Ai] erelieten! S usiaed dhell ST 2

(@  fost wosht (b) ~ WER FOSt

(¢)  ©R&T yust (d) YT T

Theory
The following extracts of costing information relate to commodity ‘A’ for the
year ended 31-12-2016 : 10
Rs.

Purchase of Raw Materials 1,20,000
Direct Wages 1,00,000
Rent, Insurance and Works on Cost 40,000
Carriage inwards 1,440

Stock on 1st January, 2016 :

Raw Materials 20,000
Work-in-progress 4,800
Finished products (1000 tons) 16,000
Stock on 31st December, 2016 :

Raw Materials 22,240
Work-in-progress 16,000
Finished Products (2000 tons) 32,000
Sale of finished goods 3,00,000
Factory supervision 8,000

Advertising, discount allowed and selling cost is Re. 1 per ton sold. During

the year 16,000 tons of commodity were produced.
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Calculate :
@) Prime cost
@) Works cost
(ziz)  Cost of goods sold
@iv) Net Profit for the year.

IR eadia Aifediaed a%q ‘31’ Heri=r 31-12-2016 TSt FUUm=an aui=n @<
Trefiel FH0 38

.
hedl HIA TRE! 1,20,000
eael T 1,00,000
g, fom enfor faAMR eifere 40,000
SN 98T oA 1,440
@Y 1 SHAR, 2016 IS
Fedl A 20,000
fopammr = e 4,800
TIR A1 (1000 =) 16,000
@Y 31 feder, 2016 s :
SHeal HA 22,240
fopammr @ 16,000
TR A (2000 ) 32,000
ffHa st fost 3,00,000
il SEe=n e 8,000

STferd, 3T9eR 27for fase! =99 wfded 1 €931 JHmol 8T, a8 SHed 16,000 27 Scie
ELS IS
AN &6l ¢
@)  9¥E 9ReTE
P.T.O.
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Gi) Tl 9ier=
i)  Torsha &=l Aty

(v) e SEEl S R

Calculate the machine Hour Rate from the following information : 10

Rs.

(1) Rent of the department (1/5th of area is occupied by
the machine) 780 p.a.

(2) Lighting (out of 12 points, 2 points are for this machine) 288 p.a.

3) Insurance 36 p.a.
(4) Cotton waste etc. 60 p.a.
(5) Foreman’s salary (1/4 for the machine) 6,000 p.a.
(6) Cost of machine 9,200
7 Scrap value 200

It is assumed from the past experience :
(@) That the working life of machine is 10 years.
(11) That the machine will work 1800 hours annually.

(ziz) - That the estimated cost of repairs and maintenance will be Rs. 1,125
for the life.

(tv) ~ That machine consumes 5 units of power per hour, rate of power is

6 paise per unit.

@il Hfgdiasd I3 dF <=l TUHET 6 ;

kR
(1) fourme 9@ (I 1/5 SRT AU 3TR) 780 wfq oo
(2)  TEME (12 UiEeHet, 2 Uige A IATH) 288 wfa ad
3)  fam 36 ufaq et
(4)  HleA AR TR 60 wfa o
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(5)  HHeH™ dad (1/4 AT FATHLET) 6,000 fa I
6) T A 9,200
(7 89 qHA 200

ANiel STYETE®d 319 Tfed ®Xel 378 i :
G) I & SIS 10 99 IR,
Gi) I dfies 1800 AE M .
(i) AT AN IS ST I WRUTGSOTET % 1,125 ©E g
(v) ® 99 YISH qEN 6 TN UG Twe THY 5 Teheh YT oI A
Or
(fenam)

The following particulars are furnished in respect of material ‘A’ :

1-4-2016 Purchased 5,000 units @ Rs. 4 per unit
5-4-2016 Purchased 600 units @ Rs. 5 per unit
8-4-2016 Issued 3,000 units

15-4-2016 ~ Purchased 7,000 units @ Rs. 6 per unit
18-4-2016  Issued 6,000 units

21-4-2016  Issued 3,000 units

25-4-2016  Purchased 5,500 units @ Rs. 5.50 per unit
30-4-2016  Issued 4,000 units

What would be the value of closing stock of the of period, if the material were
issued according to Last In First Out (LIFO) method.

‘31" Wrpfte Sredd @it Hifedl Iuesd S
1-4-2016 WS 5,000 T, T. 4 GG T YHOT
5-4-2016 ®WRET 600 T, T. 5 Gfd A gHO

8-4-2016 frte= 3,000 =7
P.T.O.
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15-4-2016
18-4-2016
21-4-2016
25-4-2016
30-4-2016

( 8) EN—73—2017
TS 7,000 T, % 6 WA T gH
fiEa 6,000 =7
fiea 3,000 =71
BET 5,500 7, . 5.50 Ufd A7 GO
TRE 4,000 =71

‘A H-shE-gu-fRiE’ @ ISR WieR TR 9 e s @ s

Y™ Al ®E oHd 7

From the following particulars relating to material ‘A’ show how the value

of the issue should be arrived at under FIFO method : 10
1-8-2016 Opening stock 5,000 units @ Rs. 50 each

3-8-2016 Purchase 4,500 units @ Rs. 60 each

7-8-2016 Issued 6,000 units to Job No. 111

11-8-2016  Purchase 4,000 units @ Rs. 62 each

13-8-2016  Purchase 1,500 units @ Rs. 64 each

15-8-2016 = Issued 2,000 units to Job No. 121

17-8-2016  Issued 3,000 units to Job No. 147

19-8-2016  Purchase 1,000 units @ Rs. 65 each

25-8-2016  Issued 3,000 units to Job No. 151

A shortage of 100 units was noticed on 16-8-2016.

A * 31" et Tt disdieed  9gH-Hha-god- e’ (FIFO) USdaR i

A gedied %y T o Sue

1-8-2016
3-8-2016
7-8-2016
11-8-2016
13-8-2016

YR @hY 5,000 T, T 50 Tfd Teheh FHT
B 4,500 Thdh, & 60 Ufd Teheh HAM

FE A 111 @ 79 6,000 TwE

TS 4,000 Theh, T. 62 WA Theh FHMO

TWET 1,500 Teheh, T. 64 Wfd Teheh YA
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15-8-2016 @™ H. 121 & fHA 2,000 Theh
17-8-2016 1™ . 147 @ fEA 3,000 THH
19-8-2016 @G 1,000 Teheh, & 65 WA Teheh THM
25-8-2016 &M H. 151 & FHA 3,000 Theh
16-8-2016 TS 319 3T@GT 3Tl ohl, 100 Teheh HHHT de 3Tefl.
Or
(fenam)
Calculate total monthly remuneration of three workers A, B and C from the
following data :

(@) Standard production per month per worker 1,000 units. Actual production
during the month : A — 850 units; B — 750 units and C — 950 units.

(b) Piece work rate 10 paise per unit (actual production).

(c) Additional production bonus is Rs. 10 for each percentage or actual
production exceeding 80% actual production over standard (e.g. 79%
NIL, 80% NIL, 81% Rs. 10, 82% Rs. 20 and so on).

(d) Dearness pay fixed Rs. 50 per month.

[aSaY [a

@eitel Hifgdieed 1 AR ‘31, ‘9’ g ‘e 9 Afgaren Ty fHeede SINH

{0 ¢

(31) YIF HHRE Y Higrd TH9 Sced 1,000 Theh 6. Hie=adiel Teel
SARA ¢ ‘@' — 850 Wheh, ‘@' — 750 Teheh MU ‘s’ — 950 Teheh

(9)  FEFHG R AT ThHE 10 T (FHET IARA).

(F)  80% YHTITILT SIE=a Yad Scaredran IfaRed Scareq stfaenyrs gfa
gyfavden 10 T S Id MR (SH 79% HEl R, 80% HE! M,
81% — 10 ¥9F, 82% — 20 TOY AT A1 JHMO).

(8) feR #ermE s 33 50 TUH WA HfE

EN—73—2017 9

FE9B011C4842640B2BESF0833A1B14F1



